4( Multiply a 2-digit number by larger number: word problems )*

1. Petersaves $87 dJail from his shop. How much will he save in 2 years ( with no lea
year amongst the 2 years)?

ARARTARTA

2. lollipop company produces about 67,288 boxes of lollipops each day. If there are

12 lollipops per box, how many lollipops does the company produce each day?

3. Rose is a writer. Last year, she wrote a total of 15 novels. She had to print 8,521 copies

e

of each novel. How many copies of novels did she print in all last year?
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. Multiply a 2-digit number by larger number: word problems

1. Petersaves $87 daily from his shop. How much will he save in 2 years ( with no lea

yvear amongst the 2 years)?

To solve this problem, we have to multiply the number of days in 2 years by 87

If 1year has 365 days

Then 2|years will have ( 365 x 2) days ) 730days)

5 114

58,400

63510 Therefore, he willlsave $ 63,510 in 2 years

2. lollipop company produces about 67,288 boxes of lollipops each day. If there are

12 lollipops per b how many lollipops does the company produce each day?

X

To find the number of lollipops produced per day, let's multiply

the number of boxes |of lollipops by the number of lollipops per box.

12

134,576

672,880 So, the company produces 807,456 lollipops per day

807456

3. Rose is a writer. Last year, she wrote a total of 15 novels. She had to print 8,521 copies

of each novel. How many copies of novels did she print in all last year?

To find/the number of copies of novels she printed last year, let’s multiply the number

£ Ly S

of each novel printed by theltotal number of novels she wrote last year
5

21

15

2,605

5210 So, She printed 127,815 copies of novels in all last year

127,815

T T T T T T

© http://mathskills4kids.com



	31.multiply-a-2-digit-number-by-larger-number-word-problems
	31.multiply-a-2-digit-number-by-larger-number-word-problems-lgthropkikj-02

